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Quiz Competition

Time Duration: 45 minutes

{
Max. Marksi-35

Note:- Questions from 1 to 25 carry equal mark of I each and from 26 to 30 carry equal

mark of 2 each.
N The velocity of an object can be changed by

RIS E R UREEAARCECLC LT
g
(A) Changing the speed
(fF & e @)
(B) Changing the direction of motion
(wfa 6 Rem & ufada Q)
(C) Changing both the speed and direction
of motion

(fa site o ST & wfada 9)
MH (@), (b) and (c) are true

ZIn case of a moving body

wfasfa a=q 1 fRafa

(A) Distance > Displacement
(<t > Freara)

(B) Distance <Displacement
(7 < foearem)
Distance >Displacement
(zf1 > fawaram)

(D) Distance < Displacement

(7 < fFAeaTa)

Aboy is standing in front of a plane mirror
at a distance of 5 m from it. What is the
distance  between the boy and his
image?

U TS AT TU F ATAY IO 5 HiZT H
78 T @ {1 A= ol gaedt @i F A= A
T FTY?

(A)Sm

(B)2.5m

_ey10m

(D) none of these

Men a ray of light falls on an object, it
may be :
ST wreprer et FAcor faret g TR O &, 1 A7
S

(A) Absorbed (sraetifem)
(B) Transmitted (Of¥d)
(C) Reflected (GRTafed)

/aaf All of them \U /
VS./‘Elg/ht travels from a rarer to a denser

medium it will have.
AT e (e ATEAH F T HTEAW Fr

X
(A)Increased velocity (37 & iﬁ;.') A“
X

Decreased velocity (37 & #41)
(C) Decreased wavelength

(T 34 | )

/ i (b) and (c) @ () aﬁT(wﬁV
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6. You are given three media A, B and C of
refractive index 1.33, 1.65 and 1.46. The

medium in which the light will travel fastest
Is:

SITRT TaF .33, 1,65 AT 1,46 F A
3T A, B o € v aw §1 95 7w
s sFror T A9 i 7 T =

A

(B)B
©cC
(D) Equalin AB&C

\_7When we insert a coin to a glass half filled
with water then coin appears as raised
slightly which is due to?

S EZH O F a1 a3 e # v fagr

(A) Reflection (Q"\TCR%!)

Refraction (ATa)
(C) Dispersion (ﬁm
(D) Scattering (Qaﬂuﬁ)

/ 8. Which of the following statements

regarding melting point and freezing point
of a substance is true?

et w2 F e o EnT R wey &
fFafafem 7 7 £ a7 Fa7 77 20

‘()mting point of a substance is more

than its freezing point.
#F4F 2T 2)

(B) Melting point of a substance is less
than its freezing point.

(Pl v a1 e 3o R &
FH Z1aT 2)

(C) Melting point and freezing point of a
substance are same numerically.
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(Pl v i AT AT RATE
AT BT X AT 31 2)

(D) None ofthese..
(& A B e

9. Ige-is floating on water in a beaker when ice

completely melts then level of water in

beaker: ;
o v i @ T T AT Tel @ 9 A

oft a7z Raer T 3 A7 A 7 9T A

L EE

(A) Increases (9% STdT %’)

(B) Decreases (€ SiIdl %)
Memains the same (THI 4T %)

(D) First increases then decreases

Wi‘:h of the following factors do not
affect the rate of evaporation —

et & ¥ F9 @1 F7F
afiEeT £ 2T T waiEa TE Far
% L
mepth of liquid ( &7er ¥ Tgrs)
(B) Humidity of surrounding air
(e i Za i A
(C) Temperature of liquid
(AT FT ATTAT)

(D) Surface of liquid (7% $t werg)

,.J/(During summer water kept in earthen pot
becomes cool because of the phenomena —

Pt =g 3 FOY & et F v orely ey
FTLOT H 52T 31 AT 3

(A) Diffusion (YY)

(B) Transpiration (FToeqrat)

(C) Osmosis (A1)
Mﬂpmﬂlim\ (aredtTom)
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\\\ hich of the following phenomena of

Mlight are involved in the formation of a
rainbow?

TR ¥ Frbor F wamer i P i
3t At waar enfier 2y 2

MRefraction, dispersion and total
internal reflection (ATadT, [AgqUf
ot e quad)

(B) Refraction, dispersion and internal
reflection (ATAdA, ¥ 3T ATATH
BNERE)!

(C) Dispersion, scattering and total
internal reflection (fA&UYI, PEAL T o
EUE IR A NERE)

(D) Reflection, refraction and dispersion
(T, A i faeaun)

‘B.//WI"\ich of the following non-metal is
liquid?
frsforfaa & & #19 ff aarq A Q2

(A) Oxygen (ATFITA)
(B) lodine (ATATET)
(C) Hydrogen (ZTEZT)
}D(Bromine (@)

lloys are homogeneous mixtures of a
»/n;etal with a metal or non-metal. Which
among the following alloys contain non-
metal as one of its constituents?
Fareryrey foreft ey i Pt e o aramq
A1 wAATT e 219 31 FraferfEe § &
ﬁﬂﬁﬂ*ﬂgﬁrﬁ?m%wﬁ CPIG|

(A) Amalgam (AHTH)

(B Steel (7B) {et (psiboows
(C) Bronze (F7¢7)

(D) Brass (fra)

Iﬁ Which component of blood tri nsports,

carbon dioxide, and nitrogenous wastes in

dissolved form?

Tl @1 YT 1 e T SIS
ol Mg Jrafe el gferd =4
1 Al I ¢?

(A)RBC (arrATafT)

p)r)’l’hsum (ITSHT)

(C) Platelets (=A%)

(D) WBC (F=7AT)

)S/Wlnch of the following phenomena
contributes significantly to the reddish
appearance of the sun at sunrise or sunset?

Frafarfre & & 7 #) T g q¥
e 3 s A 3 sl e & W
TRTE 3T 82

,M{Scattenng of light (FTeT FT )

(B) Total internal reflection of light
(STRTST T . AT GRIH)

(C) Dispersion of light (ST T fa&rdm)

(D) Reflection of light from the earth
(AT & THT9T FT WRTE)

17. Inértia is that property of a body by virtue

of which the body is :

Gi's?a‘ﬁﬂfrﬁ?it“ra’w AEUET IR LY
(A) Unable to change by itself the state of

rest
(favmm v Pafe F1 =7 7o °
AEHY)

(B) Unable to change by itself the state of

uniform motion
(rFFET i 7 Pafe F ey g

T AT
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(€) Unable to change by itself the direction
of motion
(TR F Rorm azery & spred)
e

‘Q)‘Unablc to change by itself the state of
rest and of uniform linear motion
(fam £ Bufy si v Yorg ofy
T @z § )

_/l"&/A man is at rest in the middle of a pond on
perfectly smooth ice. He can get himselfto
the shore by making use of Newton's
U AT/ AT F g Freger e ok
IT ATTH FTIZT B A A & Py @
(A) First law (g fgm)

(B) Second law (Za7T fFam)

}Q)/Fhird law (et fom)
(D) All the laws (7 Frgm)

: fﬁn which of the following cases the net force
i is not zero?

fAfertaa 7 & f fafs f ae spr i
(A) A kite skillfully held stationary in the

sky
(T TAT FYAAT T AFIT H a7 7y
=2

./(ETA ball freely falling from a height
(FATE 7 #7377 =7 7 feeft 22w i)
(C) An aeroplane rising upward at an angle

of 45° with the horizontal with a
constant speed

(TF ZATE g A g afq % wmy
AT A 45° F T\ T 7T AT AT A7
TR 2)

(D) A cork floating on the surface of water

(Tt Y 7AZ T ATAT g U ebld)

20,4 an is climbing a staircase. The energy
e

he uses does not depends upon :

o, aradt #d T =g e 2, a7 o gt

5

(A) The height of the staircase
(& ¥ F=T)

(B) The weight of his body {
ELER e CE))

(C) The time taken to reach the top
(ot o= o= # 7 aw)

(D) The mass of his body
(I9F 91T FT geqmT)

. Potential energy of your body is minimum

when :

9T 9T A wafaw wwt mmew 2y

EER

(A) You are standing (7 &3 3)
,LB’fYou lie down on floor (AT Fef 7% 212)

(C) You are sitting on chair
(o FHT T 45 F)
(D) Sitting on the ground (ST T% 3z4T)

% Gravitational force is a:

(A) Short range force (8 ZLT T 7re7)
(B) Long range force (<=t 78 %7 7e1)
(C) Medium range force (W& Tt %7 77)
) Does not depend on distance between
the two bodies (& fsTat e it gy
77 T 7T A B)
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>2< The balloon stops rising up beyond a
particular height when the density of gas

inside the balloon:
T SR U fa9iw Gag @ Sw 3o «@a
R A1 § qd ToaTE F =7 {9 F7 77 2T

3
b S
(<

) exceeds the density of air outside
equals the density of air
(g 35 T 5 AT 2)
(C) becomes less than the density of air
(AT % oAe § FH 21 A7)
(D) none of the above
(T 3 AT A
(/(The cells are joined in parallel to get the

maximum current when:
FETATEY § ST ATAT S T
(A) External resistance is very large as

compared to the total internal

resistance
(et et gty i g & aed
gfF7TY AgT 37 3)

B) Internal resistance is very large as

compared to the external resistance
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@rzf afawrg f gaar & PIGircH
external

(C) Internal  resistance and

resistance are equal
AT 2)
(D) EMF of each cell is very large

\25/.A/cell, an ammeter and a voltmeter are all
connected in series. The ammeter reads a

current | and the voltmeter a potential
difference V. If a torch bulb is connected
across the voltmeter, then.

e, o vt o T Aeedizr a4
e 3 7 7 1 T A T AT
Fremfter RyaiR v TEaT 31 R uE 2
(A) Both [ and V will increase (I AV AT

(B) Both 1 and V will decrease (I ¥ V

'l‘ ‘I‘ E :‘l)

f/)(will increase but V will decrease (I 92
STUAT AR V T SATU)

(D) 1 will decrease but V will increase (I

T ATHA V 32
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26. What is Hallmarking?
BRRIEHEES 2ot
}‘tﬂm%ﬂ(iyg _____ oy S )v' i’IﬂSB’ ----------- assukan@...

Suality Y aud_ Glegory _of V Roducke.. muﬁ',dm/
Ly Sowdmmen 59151mml< ........

-.----.---....--.---hﬂmgx)s__-fvw Jewelry

!
27. Where can a common person get information on hallmarking?

W%naﬂmwﬁa{m&mﬁﬁmémmé

He (a8t g onding &qu% ______ Bunean @{—
daadion._ Stay o
L ;QA%L dﬁ% Ca—;zz’fﬁdh rﬁ)ﬁ S%M)\ ________ LomA ey

28. Ifa gold ornament has gold of 20 carats then what is the purity % of the gold used in the ornament?

e Teb B F SyworH 20 F¥e HTAAT LAY T H Uy F1A B Qg % T 2

2 Q0 xlogi= i SEX/00 ARG e
! @ ; 5 3
O&
"; 0
b/\% 29. Aluminium is used for making cooking utensils. Which of the properties of aluminium are
&

!/ responsible for the same?
29 mﬁﬁmma@nmwﬁ%aﬁwﬁﬁﬁfmwélmﬁmaaﬁq@wm

Cicofl Coz/(ludvr /@# /L\mﬁ”
' Hmln 77 fmg Poitd., ;
@ o ODntZC.' 'mx} aniX lujﬁa 4{‘0,6)_9/ ElLim
ANA ,!,A%m/f,l rf'//m/\.]/n . 41,u,uu\ ;

A<
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30 What would happen, if all the oxygen present in the environment is converted to

wﬁmuﬁmﬁﬁ@wﬁmﬁ ﬁjzajamrmﬂqj _____ WM

LN LU Jra SRR e s s
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